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SOLUTIONS ONUINE | (|6 LET'S HAVE SOME FUN

. Caxton Joburg North

Exercise the little grey cells snemaiznncs st
Wlth these famlly puzzles FEATURED ON OUR FAMILY TIME PAGE. ____-___ —4396_ )

1073
WORD CONNECTS 545|528
PYRAMID MATHS
DE FF Add the adjacent 299|246/282
numbers together and ’*
IM MA write their sum in the 1641351171 P S 3 Ve
block above them. 8218253 |58|113 = -
RE FF ) ) |
Continue until you have - =
completed the pyramid. 35(47135(18 |40 |73 g
CA TE -
How to play Tip: In some cases you
Link the letters to form L] SE may use the inverse 13 122125 |10| 8 32|41
Eighr: Sepzrate V;/zfds- operation of addition 617 11511010 |8 |24]17
ach wora must nave : :
“CP" in the center of HO SE (lle.subtractlon) tolhelp
the word, as in the find the numbers in the 4215010l 0lo|8l16!1
example: “REPOSE”. TO FF pyramid.
Tl SE

Can you guess the missing number in the wheel?

? . @ g Answer: The orange car space is 87; the green car space is 90. To
solve this, you'll need to look at the puzzle from a different angle. What you
see are inverted numbers; the actual sequence is 86, 87, 88, 89, 90, 91.

Please help us find these items in the playground picture
below. Once you have found the missing objects, have fun
colouring in the picture.

Answer: 34. The wheel is a pie chart. each number

SUDOKU
and segment in th epie represents the percentage. i i
So, 100 - 66 (total of the numbers) = 34. R cﬁ b% @ @ %C‘:?
for sceof pi s 714/816(9|1]|2|3]5
QDU vﬂ‘*t/g}” Q\g 5/6/2]3]8l4]1]7]9
2 horseshoe . o efishhnak .. ‘% 4oiF ehab 1 3 9 7 5 2 4 8 6
’ 3[1(7]2/4|5]|6(9]8
Maths riddle: | am thinking of a number. If you add 418|5/9(3/6(7|1]|2
5 to it and then multiply the result by 3, you get 24. 2|19/618[1[7]|5]43
What number am | thinking of? 9(5(4(1121318|6|7
A :Th beris3(3+5=8,8x3=24 817]115/6/9/3/2/4
nswer: The number is 3 ( =8,8x3=24) 61213121718l9l51
FUTOSHIKI

Fill the grid with numbers 1-4.
- Each row and column must contain
only one instance of each number.

@

WORD SUDOKU - The numbers should satisfy the
— :;t:)a?parison signs - less than or greater
U[O[LJA[T[S[K[BIC]| Sove meia™e 112l 2l 3105
A|K|[T|C|B|OJU|L | S| aSudoku.Fil
the 9x9 grid NN
SICIBILIUIKIAITIO| with the word 21 (5] 1al 1] I3
K|S|U[B|L|A|[C|O|T| BLackours,
c|L[A[T]O[u[B[S[K]| wymtenmin 3] [2] [1] [5] [4
d
Ol S O L A | The ot -
T|A|K[S|C|L|O|U|B| mustbe placed in 5/ (1] (|3[<|4] |2
OIBICIUIAITISIKI|L each row, column, A\




